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1 #include<bits/stdc++.h>

2 #define 11 long long

3 using namespace std;

4 const 11 mod=1e9+7;

5 struct mtx

6 {

7 11 a[31[3]1;

8 mtx()

9 {

10 memset(a,0,sizeof(a));
11 }
12 }base,ans;
i3
14 mtx operator*(mtx x,mtx b)
15| {
16 mtx c;
17 for(int i=1;i<=2;1++)
18 for (int j=1;j<=2;j++)
19 for (int k=1;k<=2;k++)
20 {
21 c.alil[jl+=x.al[i][k]*b.alk][j];
22 c.a[il1[j]1%=mod;
23 1
24 return c;
a5l
26 mtx pow(11 p)
27 |4
28 mtx pp;
29 pp.al1][1]=pp.al2][2]=1;

30 while(p)

31 {

32 if(p&l1) pp=pp*base;

33 base=base*base;

34 p>>=1;

35 }

36 return pp;

37 |}

38 11 n;

39 dint main(Q)
40 {
41 //ios::sync_with_stdio(false);
42 //freopen(".txt","r",stdin);
43 base.a[1] [1]=base.a[1][2]=base.a[2][1]=1;
44 cin>>n;
45 ans=pow(n);
46 cout<<ans.a[1][2];
47 return 0;
48 }
49
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1.
int minx, maxx;
void calc(int a[],int n)
4 {
: minx = a[1], maxx = a[l1];
& for (int i = 2; i <= n; i++)
{
8 if (a[i] > maxx)maxx = a[i];
if (a[i] < minx)minx = a[i]:
1 }
}

2. BEESFRRITT2Y (n-1) IRELE
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3. 1 //#pragma GCC optimize(2)
2 #include<bits/stdc++.h>
#define 11 long long
using namespace std;
template<class T>
void read(T& x)
714
8 Tres =0, f=1; char c = getchar();
while (lisdigit(c)) {

10 if (c == "-")f = -1; c'= getchar();

11 }

1 while (isdigit(c)) {

1 res = (res << 3) + (res << 1) + c - '0'; c = getchar();
14 }

15 x=ires * £;

16 | }

17 const 11 N = 200000 + 10;

int a[N],minx,maxx;
int fmin(int a[],int 1,int r)

{
22 if (0 == r)//3f—
23 {
24 return a[1];
}
26 int mid = (1 +r) / 2;
return min(fmin(a, 1, mid), fmin(a, mid + 1, r));
}
29  int fmax(int a[], int 1, int r)
30 {
31 if (A = r)//3F—
32 {
33 return a[1];
}
35 int mid = (1 +r) / 2;
36 return max(fmax(a, 1, mid), fmin(a, mid + 1, r));
37 | 1
int main()
(1
40 maxx = fmax(a, 1, n);
41 minx = fmin(1, 1, n);
42 return 0;
43 | 1
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1. int solve(int n, int w[], int Timit)
f
int ans = 0;//iICF%
bool -ﬂ‘s[n] ﬁlali’i AEBESEET
for (int i = 1; 1 <= n; i++)vis[i] =
sort(w + 1, w + 1 + n);//MBIHdHIE
for (int i = n; i <= n; i++)
if (vis[il)continue;//ANRESHWIZE [, bkt
ans++;
for (int j =1 - 1; j »>= 1; j--)//BLHAESABETRENA—E
{
if (wlil + wlj]l <= limit)
{
vis[i] = 1;//fRCiXANABRSEET
vis[j] = 1;
break;
1
return ans;
H
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EXR

//#pragma GCC optimize(2)
#include<bits/stdc++.h>
#define 11 long Tong
using namespace std;
template<class T>
void read(T& x)
{
Tres =0, f =1; char ¢ = getchar();
while (lisdigit(c)) {
if (c == '-')f = -1; c = getchar();
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while (isdigit(c)) {
res = (res << 3) + (res << 1) + c - '0"; c = getchar();

[ U
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=res * f;

[
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}
const 11 N = 200000 + 10;
int tot,a[N];

vector<string>ans;
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void dfs(int step, int num,string ansp,int z,int f)

{

™~
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if (num < Q)return;//HF
if (step == 17)//&HEA
{

MNONON
Vi W

if (num == 1)

26 ans.push_back(ansp+"B") ; //BE—/hEEMI—"8"
27 return;

28 3

29 if (z > 0)//INREETH

30 {

31 dfs(step + 1, num * 2, ansp + "A", z - 1, f);
32 ¥

33 if (f > 0)//HREETH

34 {

35 dfs(step + 1, num - 1, ansp + "B8", z, f - 1);

38

39 dint mainQ)

40 {

41 dfs(1, 3, "", 6, 10);//ABHFHHT 716k, et L, 10RET, HERAL
42 printf("%d\n", ans.size());

43 for (auto it : ans)

44 cout << it << endl;

45 return 0;

46  }

47 |
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